ENIDINE Shock Absorbers

O Non-Adjustable Hydraulic Series

NON-
ADJUSTABLE
HYDRAULIC "'
SERIES —

PRO Series PRO 15M ~ PRO 225M

RIE| HLE T AP |2EY oY

SHOCK ABSORBER

f-‘-’f.f’f.’.’.ﬁ’!.’.ﬁ’#’ﬁ"”f”fff,ff ;

PM/PRO SERIES
TK/STH SERIES

OOF
T e

HIE3E 2

Chyet B0 A7let S ool
oluix| B4 8%

PM Series PMX 8M ~ PM 2150M
n240| 270 W= B X2 AT A3, AP |HHE oY

SH/STH Series

olmet eFollM= 25 2F3ks Ol
HEER 1 -10~80C, &7 : -30~100C

LIARA 2x|2 Qlet #Z 80|19 |

Heker gt

148, =2 oUx| 8%,
LA3E =202 MY 5t

=R BN

SH/STH Series  SH 25M~ STH 1.5M x 2

FEHES 2

ENIDINE 27



ENIDINE Shock Absorbers

9 Non-Adjustable Hydraulic Series PM/TK

PMX 8M = PMX 10M PM 15M = PM 100M
i ¥
26 Hf——f—f———— = 3 oE
g - ¢/ - )
F !
A
A1
Catalog No. Bore (S) (E;) (E-C) (Fp) Nominal Coil Spring Force (Fp)
: Dampin Size Stroke MJX' MLX' :?l:fk Extension | Compression Pr:‘:i:)l(ling M‘;,vd'el
(Model) Consil,un% (mm) (mm) Nm/cycle | Nm/hour Force (N) ) ) Force (N) (g)

PMX 8 M (B) -1,-2, -3 4,6 6,4 3,0 5650 890 27 5,6 200 16

PMX10M (B) | -1,-2,-3 6,0 7,0 6,0 12 400 1600 22 4,5 350 23

PM 15 M (B) -1,-2, -3 6,0 10,4 50 14125 1000 3,0 7,0 220 42

SPM 25 M (B) -1,-2,-3 7,0 12,7 17,0 29 000 21220 6,0 13,0 890 65

PM 25 M (B) -1,-2, -3 7,1 16,0 26,0 34000 2800 4,45 11,1 890 68

SPM 50 M (B) -1,-2,-3 11,0 12,7 26,0 45 200 3110 6,0 15,0 1600 123

PM 50 M (B) -1,-2, -3 11,0 22,0 54,0 53700 3750 89 30,0 1600 136

PM100M(B) | -1,-2,-3 13,0 25,0 90,0 70000 5500 14,0 27,0 2200 300

PM 120 M -1,-2, -3 16,0 25,0 125,0 75700 7550 56,0 87,0 3100 455

PM 220 M -1,-2, -3 16,0 50,0 250,0 90 300 7550 22,0 87,0 3100 625

PM XT 1525M | -1,-2,-3 20,0 25,0 360,0 124 303 28 856 49,0 68,0 6700 1000

PM XT 1550M | -1,-2,-3 20,0 50,0 732,0 166 300 28 856 47,0 78,0 6700 1100

PM XT 1575M | -1,-2,-3 20,0 75,0 1127,0 | 200000 28 856 32,0 78,0 6700 1300

PM XT 2050M | -1,-2,-3 30,0 50,0 18600 | 270000 61000 76,0 155,0 17 800 2700

PM XT 2100M | -1,-2,-3 30,0 100,0 3721,0 | 360000 61000 69,0 160,0 17 800 3300

PM XT 2150M | -1,-2,-3 30,0 150,0 5549,0 | 421000 61000 90,0 285,0 17 800 4200

TK 10M (B) ¢
I /L 20 i
oo o 1—- %{ e+
[ = —wL - f
—=H
F
A
At
Catalog No. Bore (s) (Ep) (E;Q) (Fp) Nominal Coil Spring Force | (o)
=" Dampi Size Stroke MuTx. M(T“' ;vI‘l:):k Extension | Compression Pr:?):)l(ling M‘;'vd'el
ampin
(Model) Cons':un% (mm) (mm) | Nm/cycde | Nm/hour Forco (N) N N Forve (N) (g)
TK 21M -1,-2,-3 7,1 6,4 22 4100 700 29 5,0 89 12
TK 10M (B) -1t0-9 7,0 6,4 6,0 13000 1400 1,5 10,0 - 17

ENIDINE 28



ENIDINE Shock Absorbers

O Non-Adjustable Hydraulic Series

PMXT 1525M = PMXT 2150M
Non—Adjustable

SHOCK ABSORBER

(s) Catalog No.
A | A | B C D | E |E |F G| H K | K | WF| WL S(tl:]:()e Damping (Model)
Constant

4700 57,00 — | MMBxO7S(MOMBxT0 | 25| 68| —| 409] 66| 46| - | - -1 -=| 60]|-1,-2,-3 | PMX 8 M (B)

540] 640 — | (MF)MI0Ox1,0 32| 86| —| 465 86| 46| - | - - -] 70| -1,-2,-3 | PMX 10 M (B)

60,0] 70,0/ — | (MF)MI12x1,0 32| 88| 98| 498] 9969 | - | - 1] 95| 104] -1,-2,-3 | PM 15 M (B)

82,3 91,8] — | M4xIOMOM4xTS | 40112 -] 691]109] 51 | - | - 120127| 12,7 -1,-2,-3 | SPM 25 M (B)

97,5(107,0] — | (NM4xTOMOM4xTS | 40 (112 —| 81,3/109| 76| - | - 12)127] 16,0| -1,-2,-3 | PM 25 M (B)

90,01102,0] — | (MC)M20x1,5 48 127 - | 745(163| 94| - | - 18]127| 12,7 -1,-2,-3 | SPM 50 M (B)
118,5[130,5] — | (MO)M20x1,5 48 127 —| 955(163| 76| - | - 18]127| 220| -1,-2,-3 | PM 50 M (B)
128,5|141,5] — | MOMBSxXISMOMTx30 | 6,4 157 —]102,6) 222|127 | - | — |224|127] 250| -1,-2,-3 | PM 100 M (B)
138,0(1440] — | (MF)M33x1,5 95254305 854 -| -| - | - - -] 250]-1,-2,-3 | PM 120 M
189,01950] — |(MF)M33x1,5 9525413051107 —-| -] - | - - -] 500]-1,-2,-3 | PM220M
144,0(1620] — | (MF)M45x1,5 127 | 380 (445|920 —-| -| - | — | 430190 250| -1,-2,-3 | PMXT 1525M
1950(213,0] — | (MF)M45x1,5 12,7 | 380 (4451180 —-| - | - | — |430)190/ 500/ -1,-2,-3 | PMXT 1550M
246,0{264,0] — | (MF)M45x1,5 12,7 | 380 (4451430 —-| -| - | — |430)190] 750| -1,-2,-3 | PMXT 1575M
226,0({243,0] — | (MF) M64 x 2,0 190 | 500 (57,0 {1400 -| -| - | — |61,5/190] 500| -1,-2,-3 | PMXT 2050M
328,0(345,0] — | (MF)M64x 2,0 190 | 500570 (1910 —-| —-| - | — |61,5|19,0/1000| -1,-2,-3 | PMXT 2100M
456,01473,0] — | (MF) M64x 2,0 190 60,0600 (2410 -| -] - | — |61,5 1901500 -1,-2,-3 | PMXT 2150M

TK 21M
~ G : C
F \
A
(S) Catalog No.
Stroke -
A A, C Q D E F G H Q (mm) l(’::;l;::‘s: (Model)
35,4 - MI0x1,0 | - 32 - 28,7 8,2 44 1,2 6,4 -1,-2,-3 | TK2IM
44,6 54,4 MIOx10 | - 31 8,5 38,0 8,3 5,0 1,5 6,4 -1 to -9 TK 10M (B)

All dimensions in millimeters.

ENIDINE 29



ENIDINE Shock Absorbers

9 Non-Adjustable Hydraulic Series PRQ/STH

PRO 15M = PRO 100M

Catalog No. Bore (s) (E) (E,Q) (Fp) Nominal Coil Spring Force (Fp) Model

Dampi Size Stroke Max. Max. ;vl::’:k Extension | Compression Pr:?;’l(ling Wi

(Model C::;II’::L% (mm) (mm) Nm/cycle | Nm/hour Force (N) (N) (N) Force (N) @
PRO 15 M (B) -1,-2,-3 6,0 10,4 5,0 14125 1000 3,0 7,0 220 42
PRO 25 M (B) -1,-2,-3 7,1 16,0 26,0 34000 2 800 4,0 11,0 530 71
PRO 50 M (B) -1,-2,-3 11 22,0 54,0 53700 3750 9,0 30,0 890 200
PRO 100 M (B) -1,-2,-3 13 25,0 90,0 70 000 5500 14,0 27,0 1550 285
PROT10 M -1,-2,-3 14,0 40,0 190,0 75000 7500 18,0 49,0 21220 454
PRO 125 M -1,-2,-3 16,0 25,0 125,0 91 000 7500 40,0 58,0 21220 565
PRO 225 M -1,-2,-3 16,0 50,0 250,0 111 000 7500 22,0 58,0 21220 740

STH

STH .25M = STH 1.5M x 2

@ -t

‘ :

F

A
I Aq

(Fp) Nominal Coil Spring Force
(atalog No. 2?;: Sl(r?ke l\:lEnT:. '(\:;? ;ll::xl.( Extension p C:m ression M‘yv‘:el
(Model) (mm) (mm) Nm/cycle Nm/hour Forc(eu(N) ) I;N) (g)

ST .25M 11,2 6,0 11 3400 2730 11 18 56
STH .25M 11,2 6,0 11 4420 2730 11 18 79
ST.5M 14,5 12,5 65 34000 8000 18 3 113
STH .5M 14,5 12,5 65 44 200 8000 18 31 218
ST.75M 19,5 19,0 245 68 000 19 600 35 89 312
STH .75M 19,5 19,0 245 88 400 19 600 35 89 500
ST 1.0M 254 25,0 500 113 000 29 800 98 235 590
STH 1.0M 25,4 25,0 500 147 000 29 800 98 235 726
SH 1.0M x 2 254 50,0 1000 181 000 29 800 66 133 77
STH 1.0M x 2 254 50,0 1000 235000 29 800 66 133 862
STH 1.5M 35,0 25,0 1150 250 000 65000 90 228 1400
STH 1.5M x 2 35,0 50,0 2300 360 000 65000 56 226 1800

¥ SHRE2 MAME2 ¢=EZ 7|& MEMES LAlAl 0[S gL Ch

ENIDINE 30



ENIDINE Shock Absorbers

9 Non-Adjustable Hydraulic Series PRQ/STH

/PRO |}
w
[}
o
PRO 110M = PRO 225M g
@D m
A T ] :
x
- - - E OE.* o
g
—= WL c - ) (7]
vt F: .
A
Ai*
(S) Catalog No.
A A, C D E E F G H WF | WL |Stroke Dampi
o | 2o e
62,5 724 | (MF)MI2x1,0 3,15 88| - 533 99| 69| 110] 95/104| -1,-2-3 | PRO15M (B)
97,5 107,0 | (MF)M14x 1,0 (MC)M14x 1,5 40 11,2 - 81,3 10,9| 7.6/| 120| 127|160 | -1,-2,-3 | PRO 25 M (B)
118,5 130,5 | (MF)M20 x 1,0 (MC) M20 x 1,5 48 | 127 - 955( 16,3| 7,6| 180 127| 22 -1,-2,-3 | PRO 50 M (B)
128,8 141,5 | (MF)M25x 1,5 (MC) M27 x 3,0 64| 157 - |1026| 220| 127| 224| 127| 25 1,-2,-3 | PRO 100 M (B)
201,4 | 204,7 | (MF)M25x1,5 (MC)M25x 2,0 80| 222(222 |1270| 214| 10,0| - - 40 -1,-2-3 | PROTIOM
151,0 157 | (MF)M36x1,5 95| 310350 985 - - - - 25 -1,-2-3 | PROI25M
202,0 208 | (MF)M36x1,5 95| 310/ 350 | 1240 - - - - 50 -1,-2,-3 | PRO225 M
All dimensions in millimeters.
STH
STH .25M = STH 1.0 STH1.0M X 2
2G C
OF, ! 1\ r o
| oE
| POT
; K *‘
F \
A1
A | oA B C o | B | F | 6 | W | k| wr|sweke | Coue
1 (mm) (Model)
- 61,0 12,7 (MF)MIOx1,0 | 48 12,7 41,7 - - 9,5 - 6,0 ST.25M
- 71,0 - (MF)M14x1,0 | 48 12,7 51,0 - - - 13,0 6,0 STH .25M
- 793 19,0 (MFyM10x1,0 | 5,6 9,5 59.0 - - 9,5 - 12,5 ST.5M
- 89.0 - (MFyM22x 1,5 56 9,5 68,5 - - - 20,0 12,5 STH .5M
- 114,3 25,4 (MF)M16x1,0 | 8,0 14,3 874 - - 16,0 - 19,0 ST.75M
- 130,0 - (MF)M30x2,0 | 8,0 14,3 | 103,0 - - - 27,0 19,0 STH.75M
- 150,8 31,7 (MF)MI8x 1,5 | 9,5 17,5 | 117,5 - - 19,0 - 25,0 ST 1.0M
- 170,0 - (MF)M36x1,5 | 9,5 17,5 | 136,5 - - - 32,0 25,0 STH 1.0M
- 238,2 - (MF)M36x1,5 | 9,5 175 | 1783 | 31,7 134,0 38,0 - 50,0 SH 1.0M x 2
- 238,2 - (MF)M36x1,5 | 9,5 175 | 178,3 - - - 32,0 50,0 STH 1.0M x 2
180,0 - - (MF)M45x 1,5 | 16,0 - 154,0 - - - 42,0 25,0 STH 1.5M
270,0 - - (MF)yM45x 1,5 | 16,0 - 219,0 - - - 42,0 50,0 STH 1.5M x 2

All dimensions in millimeters.

ENIDINE 31



ENIDINE Shock Absorbers

O Non-Adjustable Hydraulic Series

SIZING GRAPHIC

— 4

/
s’ L
& /
s i
® E T
><§ /
EI— //
m§1 // '3

{

05 1.0 15 20
TOTAL ENERGY (Nm/c)

25 3.0

2,5

2,0 /

1]

PM 15M
IMPACT VELOCITY (m/sec)
AN
N

=T

— 0 2 4 6 8
TOTAL ENERGY (Nm/c)

4
|
P
35 / \\
N
— 3
[ N
s ! )
£ 25
N 8 =
=1 B
s & -
[ 15 -
7} -
oA = L]
: = 2
£ =
1
P
TP —
EE——— 3
LT
0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26
TOTAL ENERGY (Nm/c)
- 4
35 r

PM 50M
IMPACT VELOCITY (m/sec)
N

TOTAL ENERGY (Nm/c)

ENIDINE 32

PMX 10M

SPM 25M

IMPACT VELOCITY (m/sec)

SPM 50M

IMPACT VELOCITY (m/sec)

PM 100M |

IMPACT VELOCITY (m/sec)

IMPACT VELOCITY (m/sec)

5

/ ~
]
L~ -1
//
/ B
-2
V. / R
/ // e
L
T —
0 2 4 6
TOTAL ENERGY (Nm/c)
y
/ il
4
/
] — n
— Z
// n
/’
0 4 6 8 10 12 14 16 18
TOTAL ENERGY (Nm/c)
4
//
3 ///
e -1
2
v
/ B
1 / ,//
{ ] / -2
e -3
0
0 5 10 15 20 25 30
TOTAL ENERGY (Nm/c)
P
L~
v - \
/ A
/|
/| L
/// -2
p =

TOTAL ENERGY (Nm/c)

XPMZEO| %M ES4L= 0.1m/secLIC.



ENIDINE Shock Absorbers

(7))
o
S
()
(7p)]
o
m
1)
S
=]
>
-
o
L2
©
e
7))
2
=)
<
o
(=)
2

43880S8VY MOOHS

SIZING GRAPHIC

400

200
TOTAL ENERGY (Nm/c)

N

0 o -~ o

(99s/w1) ALIDOTIA LOVdINI

. INOSST IXINd

240

—
200

,
TR,
, I
\NEREENEN]
N
N :
NN

(99s/w) ALIDOTIA LOVdINI

. INSSST IXINd

TOTAL ENERGY (Nm/c)

1dNaoydd M3IN _

1,2

1,0

0,8

0,6

0,4

o —

(99s/w) ALIDOTIA LOVdII

. IN0SO0ZT LXId

00,2

1

600

400

200

N

o ~—

(99s/w) ALIDOTIA LOVdII

INSLST LXINd

TOTAL ENERGY (Nm/c)

TOTAL ENERGY (Nm/c)

O9NIddS dIV

(99s/w) ALIDOTIA LOVdINI

INOSTC LXINd

[

o —
(99s/w) ALIDOTIA LOVdII

INOOT<C LXINd

2,4

1,6

1,2

0,8

0,4

]

TOTAL ENERGY (Nm/c)

TOTAL ENERGY (Nm/c)

43H1L1LO

— N
\ \ g
\

\ \TE
- o\ el .

/ -
N o
\( s
N // / o
N // ¥

) Aoomn\/__.: ALIDOT3A ._h‘wl<ms= )
.~ INSZZ/INO0ZZ Nd
R
/ =

< || Q

\ :

’ ~

. o

/ /
™ wn
// N
N //

(99s/w) ALIDOTIA LOVdII

.~ INSTT/INOZT Nd

TOTAL ENERGY (Nm/c)

TOTAL ENERGY (Nm/c)

ENIDINE 33



ENIDINE Shock Absorbers

O Non-Adjustable Hydraulic Series

SIZING GRAPHIC

/
1,25 // 1
/
/ /
; /
H // /
¢ /
= »
© & i
=< E [/
= E II [ /13
g 1/
[[1/
I/
[/
[/
0,25 /
L/
/
[/
:I'OTAL ENERGY (Nm/c)
e 26
24 .
22
-2 v
3 18 /
b B ,/ !
LS | E1,4 /
Q
AN S / — =u
< 2/
[ ] go,s [ —
E — -2 — —T1
04 [
02 —-3
—_—— 00 0,4 0,6 1,2 1,6 2 24
TOTAL ENERGY (Nm/c)
* // \>
[T =
’3\ 3
Q5. / 2
15 —
a g | 3
R / = —
L ——

{

10 15 20 2 30
TOTAL ENERGY (Nm/c)

ENIDINE 34

TK 10M

PRO 15M

IMPACT VELOCITY (m/sec)

PRO 50M

IMPACT VELOCITY (m/sec)

IMPACT VELOCITY (m/sec)

4,5

4,0

35

3,0

25

2,0

05

o

-5
d =
—1-4 -
/

—1 | —3 s
— | — =

LT | — -2 | —
Zﬁ:// a9l T

0 03 06 09 12 15 24 36 48 50 60
TOTAL ENERGY (Nm/c)

/
\ /

TOTAL ENERGY (Nm/c)

/|
// -1
//-
/‘//
/ P -2
L~
e
e
/// -3

AN
\

o
3

15 20 2 30 35 40 45 50 55

TOTAL ENERGY (Nm/c)

%PRO ROl 2N E=45E= 0.25m/secyLICt



ENIDINE Shock Absorbers

O Non-Adjustable Hydraulic Series

SIZING GRAPHIC

45 / l/
40 / _1
‘535 // -1 ‘g 3
s & — =/ =
3 E A : % / LT
g25 / 3 2 L
o gz,o / ,/ -2 ° g //// -2
m E’w /// // m g o =1
oz [/ el -3 a E > ——— -3
4 /' / ’/” =
05 ,/ I —
TOTAL ENERGY (Nm/c) TOTAL ENERGY (Nm/c)
. 7 7
/
_ I/ 1 _ ° y 4
= - = | 7 -
n £ 7 n : vi =
N E / — N E
- g = N 8 [
o L VA /'I e o g } =D
x & — —— x ¢, -
o & ] e o &
= —] 3 = 37
1 7 — 7
'/ ! F
0 25 50 TOTA7I5- ENERGY ;DNO'“/C) 125 150 175 0 25 50 75 100 11-2°5TAL|:NER1675Y (N"Z'D/OC) 225 250 275 300 325
Non-Adjustable Hydraulic Series Accessories
JAM NUT (JN)
Catalog No. | Part Numbers Model (Ref) JA | JB | JH |Wt(oz)
INM8 x 0,75| 129137185 | PMX8MF 140 | 120] 40 | 2
INM8 x1 [ 129137035 | PMXBMC 140 [ 120 | 40 | 2
INMIOxT | papioss | WG 150 [ 130 32 | 2
INMI2x1 [ 125588035 | PRO/PM 15MF 173] 150] 40 | 2
INMI4XT | 124950035 | Shiosn 2" 197 [17,0] 40 | 3
INMI4x1,5 | 123935035 | SPM/PM/PRO25MC| 19,7 | 17,0] 40 | 3
INM20 x 1,5 | 122646035 | SPM/PM/PROSOMC | 27,7 | 240 46 | 9
INM22x 1,5 | 126402035 | STH.5M 315|270 55| 12
INM25 x 1,5 | 123004035 | paatro 100NF 370 320] 46 | 15
INM25x2 [ 125568035 | PRO T10MC 37,0 | 320| 46 | 15
INM27x3 | 122587035 | PM/PROTOOMC | 37,0 | 320 46 | 15
JNM30x2 | 230583035 | STH.75M 06360 70| 2
INM33x1,5 | 128609035 | PM120/220MF | 47,3 | 410 64 | 7
INM36x 1,5 | 23164035 | SBR[ 473 ] 410) 64 | 7

All dimensions in millimeters.

ENIDINE 35

SHOCK ABSORBER



ENIDINE Shock Absorbers
O Non-Adjustable Hydraulic Series Accessories

LOCK RING (LR)

Catalog No. Part Number Model (Ref) FC FH Weight(g)
LRM45x 1,5 F88637049 PM 1500 Series 57,2 9.5 75
LR Mo64 x 2 F83010049 PM 2000 Series 57,2 12,7 85
All dimensions in millimeters.
TRIANGULAR FLANGE (TF)
Lock Slot
grC @oTL
TK
I |
3 /\&
TG %
+ =
e
Catalog No. Part Number Model(Fef) FC FH T6 TK TL  |Bolt Size| Weight(g)
TFMé4 x 2 M3 3010093 PM 2000 Series 104 157 60,5 39,6 98,6 MI10 453
All dimensions in millimeters.
RECTANGULAR FLANGE (RF)
Lock
Slot @FC
SB SA
FH ——I L—
Catalog No. | Part Number | Model(Fef) FC FH RD RE SA SB Bolt Size | Weight(g)
RFM33x1,5 | M58609053 | PM 120/220MF 55 95 413 50,8 445 28,6 M5 30
RFM36x1,5 | N14348141 | PRO 125/225MF 55 95 13 50,8 445 28,6 M5 30
RFM45x 1,5 | M58637 053 | P 1300 Sres ST 1.5 Seres 8,6 127 60,5 76,2 572 414 M8 250
RF M64 x 2 PM 2000 Series 104 157 835 105,0 90,0 70,0 M10 620

ENIDINE 36

All dimensions in millimeters.



ENIDINE Shock Absorbers
O Non-Adjustable Hydraulic Series Accessories

SQUARE FLANGE (SF)

Lock Slot

@FC
FHA =
Bolt Weight
Catalog No. Part Number Model (Ref) FC FH SA SB Size (g‘)l
SFM45x 1,5 M48637 056 I 8,6 127 57.2 43 M8 142
SF M64 x 2 M43010056 | PM 2000M Series 10,4 157 90,0 70,0 M10 570

FOOT MOUNT KIT (FM)

All dimensions in millimeters.

PM 120M, PM 220M,
PRO 125M, PRO 225M

Typical Foot Mount Installation

Z+

Stroke

Y +
Stroke

FJ +

PM 1500M, PM 2000M

g8

\

Lock Ring

gFC
4 Mounting Holes
Bolt | Weight
Catalog No. | Part Number| Model (Ref) | Y Z |FA | FB| FC| FD | FE | FG| FJ | FK | Size (g? Notes
FM M33x1,5 | 2F21049306 | PM120/220M | 57,2 | 31,8 | 700 | 60,3| 590 450] 127 | 227| 64 | 222 | M5 100 -
FM M36x1,5 | 2F21293306 | PRO 125/225M | 57,2 | 31,8 | 700 | 60,3| 590| 450] 127 | 227| 64 | 222 | M5 100 -
FM M45x1,5 | 2F8637 PM 1500M Series | 60,5 | 26,9 | 953 | 76,2| 8,60| 549| 127 | 95| 97 | - M8 370 -
FM M64x2 | 2F3010 PM 2000M Series | 76,2 | 39,6 | 1430 1240] 1040| 856| 160 | 445 112 | — | MI0O | 1050 1

All dimensions in millimeters.

ENIDINE 37

SHOCK ABSORBER



ENIDINE Shock Absorbers

O Non-Adjustable Hydraulic Series Accessories

STOP COLLAR (SC)

OEM 0.1M = OEM 1.25M

HP 110M

Hex Jam Nut Weight

(not included) Catalog No. Part Number|  Model (Ref) CA| CB|CD (g?

= ——— SCM8 x 0,75 M99137175 | PMX BMF 190120140 23

T

== SCM8 x 1 M99137058 | PMX 8MC 190{12,0 140 23

1 SCMI0 x 1 M98921171 | PMX 10MF 190 - [143] 1

SCMI2x 1 M930289171 |PRO 15M 1900 - (160 14

~— CA—1 SCMI4x1,0 M930281171 |SPM/PM/PRO 25MF | 254 — [18,0] 20

SCM14 x 1,5 M930286171 |SPM/PM/PRO 25MC | 25,4| — |21,0] 38
SCM20x 1,5 M930282171 |SPM/PM/PRO 50M | 38,0 — [250] 63
SCM25 x 1,5 M930284171 | PM/PRO T00MF 445 - [38,0] 215

SCM25 x 1,5 x 40 [M931291171 |PRO 110MF 50,0 — [38,0[ 215
SCM25 x 2 M930288171 | PRO 110MC 445 - [380] 215
SCM27 x 3 M930283171 | PM/PRO 100MC 445 - [380] 215
SCM33x 1,5 M930290171 | PM/PRO 120/220M | 41,0{ — [38,0] 210

SCM36 x 1,5 M930285058 | PRO 125/225MF 635 - [430] 210
SCM45x 1,5 8K8637 PM 1525/1550/1575 | 49,0| 49,0 [56,0| 270
SCM64x2x2 M93010057 | PM XT 2050MF 89,0/ 650(76,0 936
SCMé64x2x4 M93011057 | PM XT 2100MF 114,01 65,0 (76,01 1191
SCM64 x 2 x 6 M93012057 | PM XT 2150MF 143,01 65,0 [76,0| 1475

Hex Jam Nut
(not included)

PMXT 1525M = PMXT 2150M

Lock Ring
(not included)

All dimensions in millimeters.

@cB @CD

|y WY

URETHANE STRIKER CAP (UC)

OEq Wei?hl

Catalog No. | Part Number Model (Ref) A | E (]

UC 8609 | (98609079 PM120/220 10,0 | 30,5 3

f+\ - UC 2940 | (92940079 PM 1500 24,5 | 44,5 14

\/ UC 3010 | (93010079 PM 2000 240|570 23

UC 5568 | (95568079 PRO 110 10,0 | 22,0 3

UC 4858 | (94585079 PRO 125/225 10,0 | 35,0 3

L_ All dimensions in millimeters.
A—e—

ENIDINE 38



ENIDINE Shock Absorbers
O Non-Adjustable Hydraulic Series Accessories

SIDELOAD ADAPTERS (SLA)

Hex Jam Nut not included.

o
w
2]
o
o
(7]
2]
<
x
o
(=)
x
(7]

@S
_VI_VF
/ o WL—»| |-
— A - B Stroke
Catalog No. Part Number Model A B C D E S WF wL Stroke

SLA 10 MF SLA 33457 | TKTOM/PMX10M | 11 12 MI0x1 50 219 13,0 11,0 40 6,4
SLA 12 MF SLA 33299 PRO/PM 15M 14 14 MIZ2x1 6,0 32,4 14,0 13,0 1,0 10,0
SLA 14 MFS | SLA 33306 SPM 25M 16 20 M14x1 8,0 39,2 18,0 15,0 1,0 12,7
SLA 14 MCS | SLA 33301 SPM 25MC 16 20 MI4x1,5 8,0 39,2 18,0 15,0 7,0 12,7
SLA 14 MF SLA 33297 PRO/PM 25M 13 26 M14x1 8,0 45,2 18,0 15,0 1,0 16,0
SLA 14 MC SLA 33298 PRO/PM 25MC 13 26 MI4x1,5 8,0 45,2 18,0 15,0 1,0 16,0
SLA 20 MC SLA 33302 PRO/PM 50M 17 32 M20x1,5 | 11,0 620 | 250 22,0 1,0 22,0
SLA 20 MCS | SLA 33262 SPM 50M 14 24 M20x15 | 11,0 41,5 25,0 22,0 7,0 12,7
SLA 25 MF SLA 33263 PRO/PM T0OM 30 38 M25x1,5 | 150 732 | 36,0 32,0 7,0 254
SLA 27 MC SLA 33296 PRO/PM 100MC 30 38 M27 x 3 15,0 73,2 36,0 32,0 10,0 25,4

% 70| 1 0| Yl DU AR JH5ELITE Atk Sideload 30T, Alldimensions in millimeters.

UNIVERSAL RETAINING FLANGE (UF)

UF M10 x 1 =» UF M14 x 1,5 UF M20 x 1,5 = UF M27 x 3

|'_K_~:II-|

N 755 I
A
B
8 F B F
?4,5 1 L
e 2R -
X _ T
Tl ARl -
G C
Catalog No. Part Number Model A B C D E F G H K
UF M10 x 1 U1 6363189 | TK TOM, TK21/PMX 10M| MI0Ox 1 38,0 12,0 6,0 625 | 255 25 12,5 =
UFMI2x 1 U1 5588 189 | PRO/PM 15M MI2x1 38,0 12,0 6,0 625 | 255 25 12,5 -
UFM14x 1 U1 4950 189 | SPM/PRO 25MF M14 x 1 45,0 16,0 8,0 50 35,0 30 15,0 =
UFM14x 1,5 U1 3935143 | SPM/PM/PRO 25MC M14x15 45,0 16,0 8,0 5,0 35,0 30 15,0 -
UF M20 x 1,5 U1 2646 143 | SPM/PM/PRO 50MC M20x 1,5 25,5
UF M25 x 1,57 | U13004 143 | PM/PRO 100/110M M25x1,5 see drawing 25,5
UF M25 x 2* UT 5568 143 | PRO T10MC M25 x 2 25,5
UF M27 x 3* U1 2587 143 | PM/PRO T100MC M27 x 3 25,5

All dimensions in millimeters.

ENIDINE 39



ENIDINE Shock Absorbers
O Non-Adjustable Hydraulic Series Accessories

CLEVIS MOUNTING

PM 120 CM(S) =» PM 225 CM(S)
PRO 110 CM(S) = PRO 225 CM(S)

Jam Nut
Spring Optional
AL
d
P on
i
L -
PM 1525 CM(S) = PM 2150 CM(S)
Lock Ring o Spring
ptional o ot
[
M )"
!
W . s
—1 Q M L
(cﬂ';::?.ﬂ?) L M N P Q R s T ] v w X R N:‘E&: I
PM/PRO 120 CM(S) | 167 | 6,38 | 6,38%'| 12,703,| 12,705, - 38 - 23 6 12 [ 61 | 11,2 | 0,59
PM/PRO 220 CM(S) | 234 | 6,38 | 6,38%C'| 12,704,| 12703, - 38 - 23 6 12 | 61 | 11,2| 077
PM 1525 CM(S) 199 | 9,60°0% | 12,70%7| 19,005, 254 129 | 51 25| 15 25 | 22 - 14,3 | 1,36
PM 1550 CM(S) 250 | 9,60°0%| 12,7007 19,008,| 24,4 | 12,9°F | 51 251 25 25| N - 143 | 1,45
PM 1575 CM(S) 300 | 9,60°0%| 12,707 19,008,| 254 | 129 | 51 25 | 25 25| N - 143 | 1,63
PM 2050 CM(S) 306 | 19,07°0% | 19,070%| 31,703,| 38,0 | 16,0% | 73 38 | 38 35 | 26 - 230 | 372
PM 2100 CM(S) 408 | 19,07°0% | 19,07¢%| 31,709,| 380 | 16,0 | 73 38 | 38 35 | 26 - 230 4722
PM 2150 CM(S) 537 | 19,07°4% | 19,070%| 31,703,| 38,0 | 16,0% | 73 38 | 38 35| 26 - 230 | 5,08
PRO 110 CM(S) 211 | 500" | 500" 8,003, 8003, - 28 - 22 11 13 |50 70 | 054
PRO 125 CM(S) 180 | 6,38°0°| 6,38°0'| 12,700,| 12705,| - 38 - 22 6 24 160 | 11,2 073
PRO 225 CM(S) 230 | 6,387 | 6,38%'| 12,700, 12,708, - 38 - 12 6 24 | 60 | 11,2 | 086

All dimensions in millimeters.

ENIDINE 40



